PREHLED USPESNOSTI HRACU V JEDNOTLIVYCH ZAPASECH

REBESOVICE B NERADILEK | VASULKA PATOCKA | SEDLACEK BEDNAR . CERNY
OPI. STav LUKAS PAVEL JAN JOSEF ZDENEK CERNVLIBOR RADEK
BODY | % | BODY| % | BODY| % | BODY| % | BODY | % | BODY | % | BODY | % | BODY | % | BODY | %
Mor.Kninice A - RB 11:7 |12 1 42503 | 4| 7500 | 4| 00 2| 4500 | I I I I
RB - Oslavany A 810 [f1 1 4| 2504 | 4{10000 | 3| 00 |2 | 4| 500 | I I I I
HruSovany B - RB 10:8 I 2 1 4(5001(4 | 4(100,0 I I I I I I
RB - Rebe3ovice A 6:12 I 31 4750 | 114|250 | 415000 | 4| 0,0 | | |
Ivandice B - RB 3:15 | 3 14|750|4 1 4({1000[3 | 3|100,0(3 | 75,0 | | I I
RB - Siltvky B 8:10 I 11 425021 450031 47501 I 100,0{0 | 3| 0,0 | | |
Nové Branice A - RB 15:3 I 11 425021 45000 I 4| 0,0 | | 01 4| 00 I I
RB - SK Kufim B 9:9 I 4 | 4|100,0(2 | 4|50011 1 4|250|0 1 2| 0,0 | 2| 50,0 | | I
Radostice A - RB 12:6 I 21 4|5001(2 1 45002 | 4500 | | 4] 0,0 I I I
Mokré B - RB 14:4 I 11 425021 45000 I 4| 0,0 | I 0,0 I I I
RB - Telnice A 10:8 | 21 4|50012 1 4[500[2 1 450031 4|750 | | I I
stav zakladni ¢asti 2-1-8 (2 | 8| 25026 | 44| 59,1 (|20 | 39| 51,3 |16 | 39| 41,09 | 15( 60,0 1 | 17| 59 [0 | 0,0 I I
Sildvky B - RB 13:5 I I 3 14|750[11 4250 | ol 4] 00f01 4| 00 | |
RB - Hrusovany B 7:11 | 11 4]2501|0 1 3[00 (2114|2501 1 4]|250 | | | |
Ivantice B - RB 5:13 I 4 | 4|100,0[2 | 3|667 |1 | 4|250(2 | 3| 66,7 | | | |
Telnice A-RB 9:9 I 11333301 3[001]013|00f(213]667 | | | |
RB - Oslavany A 5:13 I 11 425021 450011 3|333(01I 4/ 00101 1| 00 | | |
RB - Silavky B 1:17 I 11 4|250(f01 4{ 00101 4|/ 0001 4| 00 | | | |
HruSovany B - RB 9:9 | 2|1 4150011 4|2501|3 | 4({750(1 1 4| 25,0 | | | |
RB - lvancice B 15:3 I 4 | 4(100,0(4 | 410002 | 4| 50,04 | 4|100,0 | | | |
RB - Telnice A 7:11 I 11 4|250(2 1 4500121 4|500(2 1 4500 | | | |
Oslavany A - RB 10:8 | 31 4|1750(2 1 4|500141 1 4({250(2 | 4| 50,0 | | | |
stav ndstavbové ¢asti 2-2-6 I 18 | 35| 51,4 |16 | 37| 43,2 |[12 | 38| 31,6 |14 | 34| 42,2 o | 5( 0,0 [[0o | 4| 0,0 I I
CELKEM 4-3-1412 | 8| 250144 | 79| 55,7 (36 | 76( 47,428 | 77| 36,4 (|23 | 49( 46,91 | 22| 45 [|[o | 8| 0,0 I I




